Year 6 Decimals session 2 Mrs Yeandle.notebook January 13, 2021

Hello .again Year 6,

Hope you .are all well. As I am working I can see out of the
window .and it looks .« hit grosty.] will try to go gor o walk
later, with my children - once they have ginished their school

work. I hope you are managing to get some gresh air too.
This week we are going to .continue to look at turning gractions

Jan 7-12:03

Can you match the gollowing gractions to their decimal
equivalent? Colowr the pairs that match. Three have heen .done

&Of zlJ.aO/LL
0.154
0.4 37 0.2
0.68 100
b
10 0.37 4
-— i 68 100
0 100
8492 0.892
O-qq ,OOO ’

Can you imaoke up 3 pairs of your owan?
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_ Amir says, I can turn a graction into a decimal by first .of
all turning .my graction into tenths, hundredths .or

thouwsandths.
Do syou agree?
Jan 7-12:12
X 20
—
5% 3
&), = .22 _oeo
5 100
- == = X20
5 10
— X200
X2 ! 2
3 .69 _ 9600
5 1000
X200
From this we can see that 0.6 is equal to 0.60, which is equal
to 0.600
6 tenths is equal to 60 hundredths, which is equal to 600
thousandths.
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Can you turn this groction into tenths, hundredths .and
like Amir did on the previous slide)?

L 4
0 10 o 100
4 Tip: Look hock at the previous
- ; . 4
20 1000 #o help i 4you

So these decimals .are all equiv.alent

_ tenths are equal to _ hundredths, which are equal to
thousandths.

Jan 7-13:30

So, to corwert a graction to a decimal we can try to turn it into
either tenths, hundreths .or thouwsandths.

Some will not turn into tenths, for example |
4

50 Mou would need to try hundredths instead.

Corwert these gractions into decimals:

3 _ _ 3 _ _
5 b

L _ _ 32 _ _

20~ | A 50 L ‘
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4
. Amir says, 1 have .a problem corwerting 6

into .a decimal, bhecause | cant turn it into tenths,
hundredths or thouwsandths.

Do wyou agree?

Jan 7-13:47

Amir is correct. There are some gractions that we cannot corwert
into tenths, hundredths .and thouwsandths.

So, we need .o diggerent imethod to turn these gractions into decimals.
L - =4
6

We can uwse owr short division method to work this .out.

-1 66
6 .'o“o‘*o\
Here I could keep going
hecause there are 4 remainder,

50 | could add arother decimal
place and another.
We call this a recurring nuwmber.
3 decimal places .are wsually
enough. We can show it is

—é: 0.16 recurring by putting a dot abowve
the recurring digit. 0.16
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1 )
§ = — 49 Can iyou w.ork this out?

Jan 7-13:58

Rosie and Tormmy have both attempted
2, ,
to convert —into a decimal

2,
| converted 5 into 0.25

2.
| converted 5 into 4

Who is correct?
Prove it.
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See if you can work your way through the examples and questions.

Iy you have o way of uploading your work, then you can email it to UKS2parents@epcollier.reading.sach.uk
If you can put in the subject har your name and mwork gor Mrs Yeandle - I should bhe able to occess it!

Iy you are not able to do this but can print ogp ygour work, then it would he great to see it when you return to school.

Thank you Year 6,
From Mrs Yeandle

Jan 7-14:13



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

